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PAPER 

PART-A : CHEMISTRY 

Q.No. 1 2 3 4 5 6 7 8 9 10 

Ans. 1 2 4 1 3 4 1 1 2 4 

Q.No. 11 12 13 14 15 16 17 18 19 20 

Ans. 2 1 1 3 1 2 1 1 4 4 

Q.No. 21 22 23 24 25 26 27 28 29 30 

Ans. 2 3 3 4 4 2 4 4 3 4 

Q.No. 31 32 33 34 35 36 37 38 39 40 

Ans. 2 2 3 3 1 4 4 1 4 4 

Q.No. 41 42 43 44 45 46 47 48 49 50 

Ans. 2 3 4 1 1 2 2 3 3 3 

PART-B : PHYSICS 

Q.No. 51 52 53 54 55 56 57 58 59 60 

Ans. 4 2 2 3 4 4 4 2 3 3 

Q.No. 61 62 63 64 65 66 67 68 69 70 

Ans. 3 4 4 2 4 3 1 3 4 2 

Q.No. 71 72 73 74 75 76 77 78 79 80 

Ans. 2 2 3 4 3 3 2 2 4 4 

Q.No. 81 82 83 84 85 86 87 88 89 90 

Ans. 1 1 3 4 3 2 2 2 3 2 

Q.No. 91 92 93 94 95 96 97 98 99 100 

Ans. 2 2 1 1 3 1 4 4 3 3 

PART-C : BIOLOGY 

Q.No. 101 102 103 104 105 106 107 108 109 110 

Ans. 4 1 2 1 3 2 2 3 1 2 

Q.No. 111 112 113 114 115 116 117 118 119 120 

Ans. 1 4 3 1 3 2 2 1 2 4 

Q.No. 121 122 123 124 125 126 127 128 129 130 

Ans. 1 2 1 3 1 1 4 1 1 4 

Q.No. 131 132 133 134 135 136 137 138 139 140 

Ans. 3 4 3 3 3 1 4 2 2 4 

Q.No. 141 142 143 144 145 146 147 148 149 150 

Ans. 1 2 4 1 1 1 3 4 1 3 

Q.No. 151 152 153 154 155 156 157 158 159 160 

Ans. 2 1 2 2 1 3 3 2 1 3 

Q.No. 161 162 163 164 165 166 167 168 169 170 

Ans. 1 1 4 4 3 3 2 2 3 2 

Q.No. 171 172 173 174 175 176 177 178 179 180 

Ans. 1 1 1 3 1 3 4 1 4 3 

Q.No. 181 182 183 184 185 186 187 188 189 190 

Ans. 1 4 2 1 1 4 1 2 4 1 

Q.No. 191 192 193 194 195 196 197 198 199 200 

Ans. 4 4 4 3 3 4 2 3 3 1 
 

 

  

 

STUDENT'S SPACE 

ANSWER KEY (AK) 
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TEXT SOLUTIONS (TS)
PAPER 

 

PART-A: CHEMISTRY 

 

1. At constant T,  ¼fu;r rki T ij½ P1V1 = P2V2  

 1 × 20 = P2 × 50;  P2 = 
20

50
 × 1 

 
2.  A  +  2B    2C 
Initial moles  2  3  1 

Final moles  
3

2
  2  2 

Final concentration 
3

4
M  1 M        1 M 

KC = 
2

2

[C]

[A] [B]
 = 

1

3
1 x

4

 
 
 

 =
4

3

 
 
 

 

 

3. P  
1

V
 

 P × 250 = 1000 × P 

 P = 
1

4
P 

 
4. The reaction in which number of gaseous 

products (np) is equal to number of 

gaseous reactants, is not affected by 
change in pressure. 

 For reaction, H2 + I2  2HI 

 Number of products = 2 ; 
 Number of reactants = 2 
 Hence, it is not affected by change in 

pressure.  

 og vfHkfØ;k] ftlesa xSlh; mRiknksa dh la[;k 

(np) xSlh; vfHkdkjdksa dh la[;k ds cjkcj gksrh 

gS] dks nkc esa ifjorZu }kjk izHkkfor ugha fd;k 

tkrk gSA  

 vfHkfØ;k,      H2 + I2   2HI 

ds fy, 

 mRiknksa dh la[;k = 2 ; 

 vfHkdkjdksa dh la[;k = 2 

 vr% ;g nkc esa ifjorZu }kjk izHkkfor ugha gksrk 

gSA 

 

5. V  T (at constant n and P). 

V  T (fu;r n o P ij)A 

 
6.  Both forward and backward reactions occur 

at all times with same speed. 

 vxz o i'p nksuksa vfHkfØ;k,¡ lHkh le; ij 

leku pky ¼xfr½ ls lEiUu gksrh gSA 
 

7. Boyles' Law 

 
V

1
P  [at constant Temperature and 

constant amount of gas.] 

 

 

P 

T3 

T2 

T1 

V

1
 

 
 PV = nRT 

 for same value of 
V

1
 higher the value of P, 

higher is temperature. So order of 

temperature.

T3 > T2 > T1 
 

8. QC = 

2

3

6

2

2 4

2 2

 
 
 

  
  
  

  =  
9

8
 

 QC < KC so reaction will proceed in 

forward direction. 

 QC < KC blfy, vfHkfØ;k vxz fn'kk dh vksj 

lEiUu gksxhA 

 
9. Covalent band is not intermolecular force of 

attraction it is band between two atom. 
 
10. Time can not be calculated by equilibrium 

constant. 

 lkE; fLFkjkad }kjk vfHkfØ;k dk le; Kkr ugha 

fd;k tk ldrk gSA 

 

11. PV = 
1

P P
100

 
  

V2 

 V2 = 
PV

101
P

100

   V2 = 
100

101
V 

 % decrease  ¼% deh½ = 

100
V

101

V
 = 

100

101
% 

 

12. 2Ag O          4Ag2 (s) (s) 2(g)+O  For this reaction 

(vfHkfØ;k ds fy;s) 

 
2P OK P   (Ag

2
O and Ag are in solid state) 

(Ag
2
O vkSj Ag Bksl voLFkk esa gSA)  

 Same for both (nksuksa ds fy;s leku) 

 

13. P1 V1 = P2 V2 750 × 120 = P2 × 180  

  P2  = 500 mm Ans. 
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14. Kp of all gases reactions is not equal to Kc. 

It's depends on n value. 

 lHkh xSlh; vfHkfØ;k ds fy, Kp = Kc ugha gksrk 

gSAA ;g n eku ij fuHkZj djrh gSA 

 

15.   

 

16. 
2 2

C
2 2

[HI] x
K ; 64

[H ] [I ] 0.03 0.03
 


 

 x2= 64 × 9 ×10–4 
 x = 8 × 3 × 10–2 = 0.24 
 x is the amount of HI at equilibrium amount 

of I
2
 at equilibrium will be  

 lkE; ij  HI dh x ek=kk gS rks lkE; ij I
2
 dh 

ek=kk gksxhA  

 0.30 – 0.24 = 0.06 
 

17.   
1 1

1

n T

P
=

2 2

2

n T

P
     

1 300

2.46


= 2n 400

1


 

  n2 = 0.3 

  Mass of oxygen left cph gqbZ 

vkWDlhtu dk Hkkj = 0.3 × 32 = 9.6 g 

  Mass of oxygen escaped vkWDlhtu dk 

fu"dkflr Hkkj = 1 × 32 – 9.6 = 22.4 g. 

 
18. 0.089   
 

19. Using equation of state  
1 1

1

P V

T
= 

2 2

2

P V

T
. So, 

1 2.5 1.5 2.0

300 T

 
    T = 360 K or 87ºC 

 voLFkk ds lehdj.k  
1 1

1

P V

T
= 

2 2

2

P V

T
.  dks iz;qDr djus 

ij,  
1 2.5 1.5 2.0

300 T

 
   T = 360 K ;k 87ºC 

 

20. 10 

 

21. 2-Methoxy carbonyl ethanoic acid 

 2-esFkkWDlh dkcksZfuy ,sFksuksbd vEy 

  

22. 3-Cyclopropyl-2-pentene    

3-lkbDyksizksihy-2-isUVhu   

 

23. 3-Ethyl-2, 4-dimethylpentanenitrile  

3-,sfFky-2, 4-MkbZesfFkyisUVsu ukbVªkbZy 

  

 

24. 6 

 

25. 2,3-pentadiene  

 2,3-isUVkMkbbZu 

 

26. 
 CH3–CH2–N O 

O 
   

 

27. 
 

H3C 

H 
C = C 

COOH 

CHO 
 

   

 

28. 

 O 

 

  

29. 

 OH 

CH3 

CH3 

H 

HO 

H 

       

 

30. 8 

 

31. 

 

CH3 – C = C – CH2CH3 

| 
Br 

| 
Br 

 

  

32. 

 COOH 

CH3 

  

 

  

33. 

 
N 

. . 

Me Me 

Me Me 
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34. 

 
CH2 



OCH3  

 

 

35. –NO2   

 

36. 1 1

1

n T

P
 = 2 2

2

n T

P
   

3 300

3


 = 

2

5 400

P


 

   

P2 = 
20

3
atm 

 

37. At Constant volume. There is no change in 

concentration (closed container).  

 fu;r vk;ru ij lkUnzrk esa dksbZ ifjorZu ugha 

gksrk gSA ¼cUn ik=k½ 

 

 

38.  A catalyst does not influences the values of 

equilibrium constant but Catalysts influence 

the rate of both forward and backward 

reactions equally. 

 mRizsjd lkE;koLFkk fLFkjkad ds eku dks ugha 

c<+krs gS ysfdu mRizsjd izrhi o vxz nksuks 

vfHkfØ;kvksa ds osx dks leku :i ls izHkkfor 

djrs gSA 

 

39. From Le-chatelier principle. 

yh&'kkrsfy, fl)kar lsA  

 

40.  K
3
 = 1 2K .K   

 

41. Kp will remain same.  

 Kp leku cuk jgrk gSA 

 

42. KP = KC (RT)n  

 P

C

K

K
 = (RT)n  as n < 0   

 P

C

K

K
 < 1  KP < KC  

 (b) n > 0   

 (c)  gaseous products is more than 

gaseous reactants, 

 (d) As the reaction is not containing any 

gaseous component therefore KP is not 

defined for this.  

 (c) xSlh; fØ;kQy] fØ;kdkjd ls vf/kd gksxsA  

 (d) pwafd vfHkfØ;k dksbZ xSlh; vo;o ugha j[krk 

gS vr% KP blds fy, vifjHkkf"kr gSA 

 

43. According to Boyle’s law ¼ckW;y fu;e ds 

vuqlkj½ V  
1

P
 

 V = 
Cons tan t

P
;  VP = Constant (fu;r) 

 

44. At constant T,  ¼fu;r rki T ij½ P1V1 = P2V2  

 1 × 20 = P2 × 50;  P2 = 
20

50
 × 1 

 

45. Absolute temperature is temperature 

measured in ºKelvin, expressed by T 

 ije rkieku ºKelvin esa ekik tkrk gSa ftls T ls 

iznf'kZr djrs gSaA  

 

46.  CH3 – CH –CH – CH3 
| | 

CH3 CH3 

 

  

47. Zn–Hg/HCl (3) SnCl2–HCl  

(4) N2H4/KOH 

  
48. CH3–CH=CH–CH3 and CH3–CH2–CH=CH2

  

49.  

 

CH–CH2–CH3 

| 
OH 

   
 

 

50. s-Butyl bromide , -Butylene  

s-C;wfVy czksekbM, -C;wVhyhu   
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